Coordinate Algebra NAME: Q@M
MILESTONE REVIEW—Coach Book \_) Unit 3 Review
Determine whether each relation is a function,
1. input @Lﬁ%m‘i 2 Input iﬁ%ﬁgm’f % *
5 L %,
N e Mﬁs passes
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For each graph, determme the graph is increasing or decreasing and its end behavior.
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The graph is always \Y\Q E(L&l! Q The graph is always &i’_@i cgémg
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The graph ) on the left. The graph _I"LSE€ S on the left.
The graph _ (T \S€38 on the right. The graph ‘@QLLS on the right.
6. Identify the x and y intercepts.
x |24]-12]0 [12]24 - teras oAy
- 6 |-4|-2 3
f&) - g y — intercept: H’
7. The highest possible grade for a report is 8. The equation A(t) = 900(0.85)" repreéents
100. Each day the report is late, the teacher the value of a motor scooter t years after it
deducts 10 points. was purchased. Which statement is also
L true of this situation?
e e — Do
;"‘LQ_ Days Late, x 0 1 2 3 1 4 a) When new, the scooter cost $765.
MRl N 100 | 90 | 80 | 70,| 60 '
m= — D |Grade, g(x) \l = \_ig \JJ TUJ @When new, the scooter cost $900.

b=|CD Could the situation be modeled by a linear

or exponential function? ] lnear '

Write a function that could be used to
model the relationship.

(1= 10O T100D
%

c) The scooter’s value is decreasing at a
rate of 85% each year.

d) The scooter’s value is decreasing at a
rate of 0.015% each year.
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Which statement about this %mz;&%m
not true? .
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L a) Determine the average rate of (V= [_
A Ramsesiaaaey > change between (0, 2) and (1, 4). =
B srengeis{-l=y=4} : YyL.=
C. Ithasayinterceptat(0, 2). b) Determine the average rate of
i change between (1, 4) and (2, 10).
It has a maximum of 6. I
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The formula a,, = 10 — 4n describes an 12. Which formula can be used to find the nth
arithmetic sequence. What are the first term in a sequence below?

t f th i =1
four terms of the sequence 128,96.72,54, ... =
224

(a)6. 2, -2, -6 Oqle’UfO)

ey = roe e 3\n-1 - 3
o0, R n_128(z) r=2

dilbken v BI04 el Q=G
4y74,18,22,26 . O=l0-8=0 : e L’&SLB )VH
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0g=l0#(2) , i
ag=1012=—2 d) a, = 128 (%)

Given the sequence 14. Find the 7" term in the sequencé -1,4,-16, 64, ...

Q- FA B 1P ) a, =-16384 Qo= - (R

Which bf the fouow:f"g would be the R
explicit formula to represent the My =

sequence? a_n;_;_{_ D,l..cn__o':{_ @7 A dan | Q_;_l,:———\ (_Lg)('"
b Rl s e e e S G T Qq="4HD9tl
bya, = —33+7n ah;“l-[—:H:)ﬂ :

el @, =—40—7n

n — —47 + 7n



Solve each equatioh by using the given graph.
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18 Deflne two functions and graph them on the coordinate plane to solve for x.

x-3=-25+6 JHESXES sl g e,
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Graph each function g on the coordinate plane below it. Classify each graph of g as either a
vertical stretch or a vertical shrink of the graph of . Then identify the factor.

19. g(x)=2x—6 . (p(’éx"a 20. g(x)=%(2*)
y - a1 %

transformatio‘ .vrtical ”\ﬂ 17"7\—6)/\. tranéfbrﬂation: rtical S\r\r WLK
factor: (p factor: 3

21. The graphing calculator screen below shows (x) =-3x—4 and its reflection g.
Which is not true of the functions? :

A. glx)=fl-x)
'B. Function fwas reflected across ﬁiﬁw
~ paxisto fs;}r&% g .
S Both f and g have tﬁ@ g&m%
- wfzmzm;}t ‘ , ,
 Both fm@ g have the same slope.




